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) Fc 18 8 16 91
12 6 33 13
-1 Si0, 7.6 35.0 0.1 61.3
ALD, 1.4 14.7 0.1 12.0
Fe,0; 2.7 3.8 0.4 5.4
a0 46.3 33.2 31.1 2.3
Mgo 7.5 3.4 15.0 0.9
ig.loss 6.2 0.1 43.8 6.8
(1.7)
( / )
p =1.30g/cm3 et e
C=50kg m3( ) -1
( bla)
g -1
500 =
65909 7 < 058
1.7 ly=s30c° R =088, .
400 & B H
LAY \~A
- | v RN
g 25 £ NN, NpmettE-om)
£ 30 y = 129.9¢ "% R? = 0.94 ‘\-:'C-h 2,
— SR T,
200 = sl
~u®
() 100
0
s 01 02 03 04 05 06
-2
230-8510 4-1 TELO45-613-3363

-1095-



3-548
g
15
y=-80Ln(x) - 229 R? =084 N ‘ @
A
[ Y [ L] (24h)
12 ‘\ - (24h)
g \
9t
[ ]
3 [ ~
0 \ry;‘fsiug)ieoipj:ngat\' m
0.0 01 0.2 03 0.4 05
-3
g
g
-5
9 9
-7 g
g
1
2)
3)

0.6

59 16 9
g
030 -
* el ly=0.4x+006 R?= 086!
o (28day) - o=
025 [ = (7day) ~
< o (28 e /D
£020 — (r0ay) e
2 s o | g Dromcomw-om,
015 [
010 [
0.05 [
0.00 * *
0.0 0.1 0.2 0.3 04 05 0.6
-4
1.6 1.8 1.9
-6 g
g

-1096-

3
120
110 'E\g\.‘
00 | e woom L
g |
g - oemms7om @~ o60]
S 9 ypzomagos g -8
- -5
= 8o s
° (7day)
o (14day)
70 u (7day)
o (14day)
A (7day)
60 A (14day)
0.0 01 02 03 04 05 06
-5 g
120 HE ]
| H - =17
N \ ..... _"I a =18
110 e e b a8
s, ol o =l ¢ o
N Sl |° =19
AlOO = A; ig
1 - =18
T 90 f : ST
o //
— 80 9 T
o
70
60
50
00 01 02 03 04 05 06 07 08
-6 ¢ ( 1.6 1.9)
120
( 0.2)
110 Free N
e T -
oy
. ( 04) -
100 e
, +
N «
S 9
£
o
T g0 |
(=2}
70
60 |
50
1.500 1.600 1.700 1.800 1.900 2,000
_7 g
36,37
1997
No0.750 -65



